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Daily Practice 2.10.15

Q1. Solve the equation 4(2x - 1) + 5x = 3x + 26
ot 48oc = D= 4D Goxz A

Q2. Calculate the length of k l&:;‘”
=23

oy
Q3. Calculate the me an, mode and range of k‘“"“
A5 TP 9

-3,7,4,13,5, 11, 6 7

NQA =525 madhion = z:&i_ Wﬂ'(‘&\t.&

(x +3)cm

Q4. Write a simplified expression for the

perimeter of the rectangle shown xcm

= X4R 4 x43 +x + R

Pzlx+6

qumﬂrm with Fractions

Ql. Equa’([ons revision: Solve the Fo||ow[ng equations

(3) 3x+7=32-2x (d) 5(2h +3) = 4(2h +1) + 15
- B u‘

3’"2;"2" ,l'd\:BaSt\qfr"B
pragre =3 em
% s heb.
() 52k - 4) +1=3(2k - 1) @3 - 1)—18 5+ 1)
=20+1= bk B-5) ~S
ok =19« k-3 ;j u

gl

() 4(m-2)-9=3-(m+5) (F) 3(5t+7) + 2(3t - 5) = 5(2t + 11)

-8 -9=3-m-S 15642 & f~l0= lot+9%
llms-na‘;m-l 2t +il=lokrss
m\“ B “(\:N

Q2. Make up 5 equations that are solvable

Today we will be continuing to solve equations
with fractions.
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Today we will be learning to solve

equations with fractions.

Daily Practice 5.10.2015

QI. Calculate the volume of the cylinder shown. Round your answer to
2 significant figures H

212em

v
Q2. Write 0.000817 in scientific notation “ Sem .

Q3. Find the value of a house that was bought for £63 000 and
appreciated in value by 5% per year for 4 years.

Q4. o1, 1
6 8

Frzrmfinh with Fractions

Given an equation with a fraction in it, always try to get rid of the
fraction first by multiplying both sides by the denominator of the
fraction.

If there are 2 fractions, multiply both sides by the common
denominator (LCM of both denominaors) of both fractions.
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Fr}uqﬁnh with Fraction

Examples: Solve the following

1. 3k—1_8 2. m+2 m-3 1
4 4 2 2
x4 g pl3 x4
K-1= 83 42 - 2
& Y] ma +?n-|: e l
*;33 3m-‘|' = a
= 58 oy
K=| Imzb
B
m=
LY
Daily Practice 6.10.2015
Q1. Solve the equation x+3 243~k =~b
I=-7=-3 —lab
2 =2 2 ==
Q2. If f(x) = 2x2 + 3, what is the value of f(-2)? _
f(D=2Ca +3 = 873
Q3. Write the numlzer 5000 000 in scientific notation )
Sx10 =7
—_—

Q4. Calculate the size of the internal angle of a pentagon

180" =
Q5. If two bottles are similar in size, the volume of the smaller bottle is
330ml and the diameter of the base is 5cm, calculate the volume of the
larger bottle if the diameter of the base is 6.5cm
Sf.05%5=13
\.sf= (l~3\

wox(13) ~ 325.0Iml

Problem Sol ing using Algphm 6 : 'o 'ﬁ
Example:
Write down an expression for the perimeter and the area of the triangle
shown
R‘uﬁb’ & . Y
X cm
=+ xr2ty
= Sx+3ad+y
—_— (x +2)cm
Areae E(bxh)
Page 190-193

= e r2)0
=3 +3x)

= 35‘1 b
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Fr‘rlmﬁnnq with Fraction

Equations4.pdf
Questions: Solve the following 2

3h—-1 h-3 4
@ 4= (@ Qg+ _ () T2
2 5
z_ 2f—5=f—2 Mm 2k—l_£_g
k) =4 h == DS
8h+2 _ 3g _Sg_1 (k) €=2,¢=3_c-1
© -6 (@ 232 2,3
@ k+s5_, (hyp=3_p 3  #=3,1_ 171
2 6 5 2 5 20 4

Today we will be learning how to use algebra to
create expressions for questions in context.

Daily Practice 7102015
Q,‘ . 50|ve the equation 5(2x + I)~ Sx=x+3
E b+ -Seaxts
2+ e RAD
X=X
QZ Round 81447 to 2 signiFicant Figures
=%
4
i .':Jk Co 2 s
Q> 2377 T -T2 W '?Stlg
4x

Q‘I" Write an exPression for the area of the

f=L£(doxdy)
= 1 (aae)()

T e

rhombus SI‘YOWH
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Today we will be |earning how to solve cquations

from questions in context.

Examples:
2) Andy buys k packets of crisps. Laura buys 2 more packets of
crisps than Andy.

a. Write an expression for the total number of packets of crisps.
K +K+2

b. There were 14 packets of crisps bought altogether. How many
didAndybuy  dk+a=l

BoIn Ay b s

c. Each packet ofc?s[;s cost 60p. Ho much dxhh each spend?

lopd- 40|

Today we will be continuing to wotk out

problem solving questions.

November 24, 2015

Problem Solving with Equation '?'b"s
= T

Examples:

1.

| | Ao @ = 1(e)®
| @ *£(3-3)

A A
=3
x 22(3x-)

x=§a€-b
'i’fu "ty

“The triangles are equal in area.

Calculate the value of x.

Daily Practice 9.10.15
Q1l. Multiply out and simplify 3(2x + 4) - 18x + 3

Lr+ia-18x+3
—pR=¥s

Q2. Share £120 in the ratlo 3:4 3t4="T

‘1% x3- fL‘é
3 "‘° [3-1ux4 = 26857
Q3.-17 + 2.X 6

Q4. Find the value of a house that was worth £180 000 and
appreciates by 2% per annum for 3 years

100°%+ QL <104 = |-OX a
x+3 [Ro ccox (-0
-4=6
5. Sol s .
@save 2 2 31000ty
x+3 =8 =l
x+3=30
x=ft
_
Problem Solving with Fd]uafl'nn
Examp|es; EquationsProblems.pdf
3.

A new fraction is obtained by adding x to the numerator and denominator

of the fraction ;77
This new fraction is equivalent to %

Calculate the value of x.
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Daily Practice 21.10.2015

Q1. Find the original value of a car that depreciated by 7% and is

is now worth £3650 &0:3“”

ot TS

Q2. Solve the equation 6(3x - 1) = 12(x + 1)
Bx—b = Rx+1L

b= o
“h e s=2

Q3. State the median and quartiles of the data set
-2 @ 7 ( 9 @ 13
Medion= 1;—1,8 Qr:S
‘QZ Q3:Q

211018

thd'lmliﬁﬁ
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Today we will be learning
how to solve inequalities.

Homework Online due
Monday 26.10.15

Ineqlmlifie

From left to right:

IN

\Y

Salving Ineqna]iﬁm

Solving inequalities follows the same process as solving equations.

Examples: Solve the following

(3) 5x - 4>26 b 9-33<12 () 2(c+5)-1=23

Sx 230 “3al3 c+0-123
x> b 3 =3 :1«; 7;35
== e
< 92 —_—
(d) 204b -7) <3b - 14 ‘;‘?"m“ ket
PARTPR WL
B &3h
<0
bso

e—

Write expressions for the following:

xislessthine 2 & b

y is greater than -15 3> -3

kis greater than orequal to 0 K 20O

h is greater than or equal to -4 and is less than 7~ & h it
p is greater than -1 and is less than orequalto 4 =] £ P Ly
i lies between -3 and 5 but isn‘t 3 or 5

3¢ 3 s
P s
—6412 at
@ 6('?‘.'“3?35&?? s
L '3 x4 x4+l
® ‘1-85 L:bc-!- s @ - (‘3:7532 %
® 2x482%-2¢ A
z2 ‘
® Kk736-) fo;‘;;l“’ 755 \
';,3,’:,: 2mF>S J;-\l
xl3 :h&l;.‘

_—
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Daily Practice 23102015

Q1. Multiply out and simplify 2(3x - 4) + 5x
ply plify o

~B+3x

I3 5298443
Q2. Ca]culatethegqean median, mode and range oFZ 4 2,-5,8,6and 3
Mean = & g, Mede=? $69)

Q3. Calculate the length of the side k l6qm
() W
Shceh & SaHr -
{b@msu k K=8TSem k
Q4. If two cylinders are similar in size and the smaller cylmder has a volume
of 280ml and a diameter of 16cm, if the larger cylinder has a diameter of
24cm, what is its volume?

Sfe Wzlb= IS
Vst = (1s)% 3315
A% 3333 = IY5ml

* ¥ *
* ° Success? %
¥ * T

| can explain what an inequality is.

| can solve inequalities with unknowns

on both sides.

November 24, 2015

Today we will be completing marking the inequality
questions and doing a check-up on inequalities.
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Solving Equations 4

Solve each of the following equations. Show all working!

1. 2x=-5 2. 1+x=-7 3. 4x+1=-3

4. 2(x-1)=-4 5. 3(2x+3)=5x 6. 6(x—1)=-3

7. 2t=3(t-4) 8. 2(a-1)=-8 9. 21-w)=w+5
3x_9 4x _ S =2x _3

10. 5 =75 11. 3 =7 12. 5=
2X _ —oX _ 2x _

13. 5 =10 14. > =15 15. 70 = 1
6 _ 3 _ 1 _

16. 5x_2 17. 2X——6 18. =3
x+2 7 4x+1 2 5-t 8

19. 5 =7 20. 3 =% 21 3 =9
a+4 a+1 x4 -1

22. 3 =5 23. 7 =3
3(X+1)_l 3.,

24, 5 =3 25. 5x=9

26. 4(’(3_1) 3 27. A(x—1)=3(x+3)+2

5 3 x+1 2x+1 34

28. -1 -2 29. > +55 =70
1,,3x=1) 25 3 _4

30. ox+—5— =97 31. 177X

32 3iatyag = 33. 200+ D+ 30 =2
w-—3 w s+7 _ s

34. 5o =73 35. 5 =&
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Equations

1. Together David and Alan have £30. David has £6 more than Alan.
How much does each person have?

2. Amanda sat two maths tests. In the second test she scored 10 less
than she did in the first test. Her total mark for both tests was 92.
How much did Amanda score in each test?

3. Sarah buys a necklace and a pair of earrings. The necklace costs
£35 more than the pair of earrings. Sarah paid £81 for both items.
How much did each item cost?

4. Stephen buys a toaster and a kettle. The kettle cost £8 less than
the toaster. Together the items cost £42. How much did the
kettle cost?

5. Asma, Samia and Sidra are sisters. Samia is 4 years older than Asma
and Sidra is 9 years older than Asma. Altogether their ages total 31.
Let Asma’s age be x.

(a) Write down expressions for Samia’s and Sidra’s ages in terms of x.
(b) Calculate how old each sister is.

6. Michael goes shopping. He buys a shirt, a pair of trousers and a suit.
The trousers cost £5 less than the shirt and the suit cost four times as much
as the shirt. Altogether Michael spent £145.
Let x be the cost of the shirt.

(a) Write down expressions for the cost of the trousers and the suit in
terms of x.
(b) How much did Michael spend on each item?

7. Zaheer, Imran and Faisal play cricket. In one innings Imran scored 25
runs more than Zaheer and Faisal scored three times as much as Zaheer.
Altogether they scored 130 runs.

How much did Faisal score?

8. Jane has twin sisters, June and Jean. The twins are 3 years older than Jane.
Altogether their ages total 42. How old is each girl?





9. Debbie goes jogging each morning. On Tuesday she ran 2 km less than
she did on Monday and on Wednesday she ran 5 km more than she did
on Monday. Over the three days Debbie ran 27 km.

Let x represent how far Debbie ran on Monday.

(a) Write down expressions for how far Debbie ran on Tuesday and
Wednesday.
(b) How far did Debbie run each day?

10. A bath towel and two hand towels cost a total of £26. The bath towel
cost £5 more than the hand towels.
Calculate the cost of the bath towel.

11. John and James have the same number of sweets.
John has 4 packets of sweets and 6 loose sweets.
James has two packets of sweets and 28 loose sweets.

(a) How many sweets are in a packet?
(b) How many sweets does each boy have?

12. A group of people visited a tower.
5 climbed the stairs to the top while the rest used the lift.
The lift had to make 7 trips to get the rest to the top and was
fully loaded each time.

On the way down, 41 people in the group used the stairs and only
4 trips of the lift were needed to bring the rest down. The lift was
fully loaded each time.

(a) How many people did the fully loaded lift take?
(b) How many people were in the group?

13. The diagram below shows a pair of scales that are evenly balanced.

#L -rn_

On the scale are some solid metal blocks and some small metal spheres.
Each small sphere weighs 10 grams.

Let the weight of each block be represented by x.
Calculate the weight of each block.





14. To visit some historical ruins, a ravine has to be crossed. The ravine
can be crossed either by using a rope bridge or a cable car.
A group of tourists want to visit the ruins.

On the way to the ruins 6 people cross the rope bridge and the cable
car makes 5 journeys fully loaded. On the way back the cable car makes
2 journeys fully loaded and 30 people cross the rope bridge.

(a) How many people can the cable car hold?
(b) How many tourists are in the group?

15. A vineyard stores its wine in barrels.
One barrel can fill 20 one-litre bottles and 8 wine boxes or
50 one-litre bottles and 2 wine boxes.

(a) How many litres does a wine box hold?
(b) How many litres does a barrel hold?

16. A newsagent sells football cards.
The cards can be bought in packs or individually.

Christiano buys 5 packs of cards and 8 individual cards.
Carlos buys 2 packs of cards and 26 individual cards.

If Christiano and Carlos have the same number of cards,
How many are in a pack?
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